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1. Aitoliko lagoon, which was seen in the news recently, is located in which country?

a) Russia b) Greece c) Australia d) Sweden

2. As per a recent study by the .1IT-Kharagpur, which region of India is named as the global hot-spot of
atmospheric ammonia (NH3)?
a) Southern Coastal region
b) Indo-Gangetic Plain
c) Deccan Plateau
d) Western Ghats

3. Who created the political ideology of Niyamat — i — Khudai?
a) Qutubuddin Aibak b) lltutmish c) Balban d) Raziya

4. Who among the following was the president of the British Indian Association that was founded in
18517
a) Radhakant Deb
b) Debendranath Tagore
c) Prasanna Kumar

d) Dwara kanath Tagore

5. Which of the following joint exercises is/are held between India-UK?
1) AJEYA WARRIOR
2) PASSEX
3) Konkan
4) Garuda Shakti
Select the correct answer using the code given below:

a) land4only b) 2 only ¢)1,2and 3 only d)1,2,3and 4

6. Consider the following statements:
1) India is the founder-member of the High Ambition Coalition (HAC) for Nature and People.
2) HAC membership is limited to Asian countries only.

3) The HAC aim is to prevent nuclear proliferation.
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Which of the statements given above is/are correct?
a) land2only b) 3 only c)l,2and3 d) None of the Above

. Identify the correct statement related to semi-Cryogenic engine:

1) Unlike a Cryogenic engine, a Semi Cryogenic engine uses Refined kerosene instead of liquid
hydrogen.

2) Kerosene combined with liquid oxygen provide a higher thrust to the rocket.

Which of the above statements is/are correct?

a) Only1 b) Only 2 ¢) Both 1 and 2 d) Neither 1 nor 2

. The is a route that follows in the footsteps of the Buddha from Lumbini in Nepal where he
was born, through Bihar in India where he attained enlightenment, to Sarnath and Kushinagar in Uttar
Pradesh in India, where he gave his first teachings and died.

a) Buddbhist circuit b) buddha retreat ¢) buddha path d) buddha ring

. Consider the following statements:

1) Ethanol is derived from corn and sugarcane using the fermentation process.

2) Biodiesel is derived from vegetable oils and animal fats by a transesterification process.

Which of the statements given above is/are correct?

a) 1Lonly b) 2 only c) Both 1 and 2 d) Neither 1 nor 2

10. Consider the following statements:

1) Taiwan’s Air Defense Identification Zone (ADIZ) is an internationally recognised zone which
allows Taiwan to take actions against any hostile aircraft.

2) One China Policy is not recognised by USA.

3) Taiwan Strait is surrounded by China and Taiwan only.

Which of the statements given above is/are correct?

a) 1and 2 only b) 3 only c)1l,2and 3 d) 1 only
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